
CAS LX 422 ∼ GRS LX 722 Intermediate Syntax

Fall 2023

Homework #2

DUE TUE SEP 19

1 Sinhala

In Sinhala (spoken in Sri Lanka), verbs can appear in two different forms, which we will

call form A and form B. Some sentences in Sinhala are provided below.1

(1) a. Mam@

I

kawi

poetry

ki@n@wa.

tell-A

‘I recite poetry.’

b. Mat
˙
@

I

kawi

poetry

ki@wen@wa.

tell-B

‘I started reciting poetry (despite myself).’

(2) a. Lamea

child

kataaw@

story

ahan@wa.

hear-A

‘The child listens to the story.’

b. Lameat
˙
@

child

kataaw@

story

æhan@wa.

hear-B

‘The child hears the story.’

(3) a. Mam@

I

nat
˙
@n@wa.

dance-A

‘I dance.’

b. Mat
˙
@

I

næt
˙
@n@wa.

dance-B

‘I dance (I can’t help but do so).’

(4) a. Hæm@

every

irida

Sunday

m@

EMPH

mam@

I

kol@mb@

Columbo

yan@wa.

go-A.

‘Every Sunday I deliberately go to Columbo.’

b. Hæm@

every

irida

Sunday

m@

EMPH

mat
˙
@

I

kol@mb@

Columbo

yæwen@wa.

go-B.

‘Every Sunday I experience going to Columbo.’

(5) a. Malli

brother

nit@r@m@

always

aNd
˙
@n@wa.

cries-A

‘Brother always cries.’

1Based on problem 7.1 from Carnie 2002.
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b. Mallit
˙
@

brother

nit@r@m@

always

æNd
˙
@n@waa.

cries-B

‘Brother always bursts out crying without control.’

(6) Apit
˙
@

we

pans@l@

temple

peen@wa.

see-B

‘We saw the temple.’

Part 1. Look at the places where the suffix -t
˙
@ appears. What is the generalization about

where it is found? That is, what kind of noun does the suffix -t
˙
@ appear on? Specifically,

this question is about the θ -roles, what θ -role correlates with the -t
˙
@ morphology?

Part 2. Sentence (6) is not paired with anything; you are only given the one with form

B of the verb. Given what you have deduced about Sinhala from these setnences, what

does the corresponding sentence with form A of the verb (and without the -t
˙
@ suffix on

the subject) mean?

2 Trees and Merge

Suppose that you pulled the following items from your lexicon. I’ve given you the pro-

nunciation for the verb and the preposition.

[D, acc, 3, masc, +sg]

[D, acc, 2, –sg]

called [V, uD, uD, +past]

[D, nom, 1, –sg]

for [P, uD]

Part 1. Using Merge and/or Adjoin, assemble these into an interpretable structure.

Show the structure after each application of Merge or Adjoin, crossing out uninter-

pretable features as they are checked. You will draw four trees, the last being the biggest

one. Note: There are a few different ways you could do this, but the way you provide

must satisfy this condition: The word with the [nom] feature must be a specifier. I’ve

done one for you, so you can see what it looks like (but note that this wasn’t the only first

step you could have taken.)

Step 1. PP

[P, uD]

for

[D, acc, 2, –sg]

Merge P and D
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Part 2. What is the sentence you just drew a tree for?

Part 3. What other sentence could you have made with these same lexical items (again,

with the condition that the word with [nom] be in a specifier position)?

Part 4. In the last tree you drew, what two nodes are complements?

3 Trees again

Parts 1–2. Repeat parts 1–2 from the previous problem, but for the following lexical

items instead. For this tree, just as before: The word with the [nom] feature must be a

specifier.

[D, acc, 3, –sg]

[D, nom, 1, +sg]

washed [V, uD, uD, +past]

quickly [Adv]

4 Trees yet again

Parts 1–2. Repeat parts 1–2 from the previous two problems, but for the following

lexical items instead. Hint: It’s harder to think of an appropriate verb for this one. If you

do not want to rely on your intuitions, glance at your notes from class for ideas. For this

tree, just as before: The word with the [nom] feature must be a specifier.

[D, acc, 1, +sg] [V, uD, uP]

[D, nom, 3, –sg] [P, uD]
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